Your Notes

1 Solve Linear Systems

T.8A NOTES INCLuDED

Rede
by Graphing

Goal - Graph and solve systems of linear equations.
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SOLVING A LINEAR SYSTEM USING THE GRAPH-
AND-CHECK METHOD %
Step 1 G-Rne' 4 both equations in the same coordinate

plane. For ease of graphing, you may want to b‘ﬁ
write each equation in _SLoPE |V T ERCEPT. ¢ 3-—- m X+

Step 2 Estimate the coordinates of the PoimT oF
=2 TaTEeSE CTion (POT) .

step3 (wecic the coordinates algebraically by
substituting into each equation of the original
linear system.

Your Notes m::e the graph-and-check method
Solve the linear system: 3x + y = 9¢ Equaton1 Xx:3> . 9
—~x4+y=1°¢ Equaton2 x: —| :
Solution
1. GRapw both equations. [ LRAPW €QUVATIINS LQ YT

To ease graphing, X+ |NTERCE PTSJ
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in slope intercept
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2. Estimate the point of intersection. The two lines
appear to intersect at (A , © ).

3. Check whether ( 2., 2= ) is a solution by substituting
2 forxand 3 _fory in each of the original

equations. _
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CHECKING soLuTiONS Tell whether the ordered pair is a solution of the

linear system. n z2(s)~30)=4 L2 2(s)+8(2) =11
4. (5, 2); lo—6=4 263
L\ 2x — 3y~ 4 y=4%v~
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For the following, Make accurate graphs. Check solutionin the original Equations
15) Graph with x and y intercepts
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35 MULTIPLE REPRESENTATIONS Itcosts $15 for a yearly membership to

amovie club at a movie theater. Amovie ticket costs $5 for club members and $8 for

nonmembers.

a. Writing a System of Equations Write a system of equations that you can use to find
the number x of movies viewed after which the total cost y for a club member,
including the membership fee, is the same as the cost for a nonmember.

b. Making a Table Make a table of values that shows the total cost for a club member
and a nonmember after paying to see 1,2,3, 4,5, and
6 movies.

- c. Drawing a Graph Use the table to graph the system of equations.

] Under what circumstances does it make sense to become a movie
’ club member? Explain your answer by using the graph.
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Solve: Create a table and then graph both lines.
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Identify the solution: (2 ‘}f 4O ) Check: Does the answer make sense

ANSWER: in a complete sentence
TF You. (Go To /MNorE THAN 5(6*) Movies, Yo
Shos\d vy amem bershe .



olve Special Types of
Linear Systems

“@oal: - Identify the number of solutions of a linear

system.

3 TYPES 0 F SYSTeEms:
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A linear system with no solutions

Show that the linear system has no solution.
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Your Notes A linear system with infinitely many solutions

Show that the linear system has infinitely many

solutions.
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7.1 HW Review

CHECKING SOLUTIONS Tell whether the ordered pair is a solution of the

linear system. \__\ Z ( s)~ 3 (a‘) __'2. Z_( >)+8(2) =}
4. (5,2); 1o —6=4 263
\V\2x -3y =4 4= 4~

LZ 2x 4 3}-’— 11
(5,2) 1S NOT A Sowvton @
Twe SYSTEM

For the following, Make accurate graphs. Check solutionin the original Equations
15) Graph with x and y intercepts
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Prerequisite Skills
VOCABULARY CHECK
Copy and complete the statement.
1. The least common multiple of 10 and 151530
2. Twao lines in the same plane ar ,zifthey do not intersect.

SKILLS CHECK
Graph the equation. (Prerequisite skill for 7.1)

WOF CYSeer SR LR,
Solve the equation. (Prerequisite skill for 7 2-7 4) ’

T 5m-4-m=2nm:::q- a. 10(z|5}|z=62:—-¥.,
Tell whether the graphs of the two equati mﬂ lines. F.x inyour
reasoning. (Prerequisite skil for 7.5 / M
9y=2x—3.yr2x=-—% // y—:x——ly—-u—l
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Sulw: the mequalny Graph the solution. rprereqmsrte skill for 7.6)
1. m+4=9 14, =612 24 15. 2x=5%13 16. =5y | 1 <—14
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